

Some new Hilbert-Pachpatte's inequalities with some sequences

Wengui Yang

School of Mathematics and Computational Science, Xiangtan University, Xiangtan, 411105, Hunan, PRC

Abstract: Some new inequalities Hilbert-Pachpatte's inequalities with some sequences are established in this paper. The integral analogues of the main results are also given.

Key words: Hilbert's inequality; Hilbert-Pachpatte's inequality; Hölder's inequality

Mathematic Subject Classification(2000): 26D15

1 Introduction

Let $p > 1$, $\frac{1}{p} + \frac{1}{q} = 1$, $a_m, b_n \geq 0$. If $0 < \sum_{m=1}^{\infty} a_m^p < \infty$ and $0 < \sum_{n=1}^{\infty} b_n^q < \infty$. Then

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{m+n} < \frac{\pi}{\sin(\pi/p)} \left\{ \sum_{m=1}^{\infty} a_m^p \right\}^{\frac{1}{p}} \left\{ \sum_{n=1}^{\infty} b_n^q \right\}^{\frac{1}{q}}, \quad (1.1)$$

where the constant $\frac{\pi}{\sin(\pi/p)}$ is the best possible.

Inequality (1.1) is the well known Hilbert's inequality[1]. It is well known that Hilbert's inequalities play a dominant role in analysis, so the literature on such inequalities and their applications is vast[2-6]. By defining the operator ∇ , Pachpatte[7] gives new estimates on inequalities of this type.

In order to narrate conveniently, we give firstly notations and definitions[7]. Let R denote the set of real numbers, $N = \{1, 2, \dots\}$, $N_0 = \{0, 1, 2, \dots\}$, $N_\alpha = \{1, 2, \dots, \alpha\}$, $\alpha \in N$. Define the operator ∇ by $\nabla u(t) = u(t) - u(t-1)$ for any function u defined on N_0 . And define the operators $\nabla_1 v(s, t) = v(s, t) - v(s-1, t)$, $\nabla_2 v(s, t) = v(s, t) - v(s, t-1)$ and $\nabla_2 \nabla_1 v(s, t) = \nabla_2(\nabla_1 v(s, t)) = \nabla_1(\nabla_2 v(s, t))$ for any function $v(s, t) : N_0 \times N_0 \rightarrow R$. we let $I = [0, \infty)$, $I_0 = (0, \infty)$, $I_\beta = [0, \beta)$, denote the subintervals of R . For any function $u : I \rightarrow R$; we denote by u' the derivatives of u ; for the function $u(s, t) : I \times I \rightarrow R$, we denote the partial derivatives $(\partial/\partial s)u(s, t)$, $(\partial/\partial t)u(s, t)$, $(\partial^2/\partial s \partial t)u(s, t)$ and $(\partial^2/\partial t \partial s)u(s, t)$ by $D_1 u(s, t)$, $D_2 u(s, t)$, $D_1 D_2 u(s, t)$ and $D_2 D_1 u(s, t)$, respectively.

Now we repeat the result of [7] as follows.

Theorem 1.1 Let $p > 1$, $q > 1$, $\frac{1}{p} + \frac{1}{q} = 1$. Let $a(s) : N_m \rightarrow R$, $b(t) : N_n \rightarrow R$, and $a(0) = b(0) = 0$. Then

$$\sum_{s=1}^m \sum_{t=1}^n \frac{|a(s)||b(t)|}{qs^{p-1} + pt^{q-1}} \leq M_1(p, q, m, n) \left\{ \sum_{s=1}^m (m-s+1)|\nabla a(s)|^p \right\}^{\frac{1}{p}} \left\{ \sum_{t=1}^n (n-t+1)|\nabla b(t)|^q \right\}^{\frac{1}{q}} \quad (1.2)$$

for $m, n \in N$, where $M_1(p, q, m, n) = \frac{1}{pq} m^{(p-1)/p} n^{(q-1)/q}$, for $m, n \in N$. Inequality (1.2) is the well known Hilbert-Pachpatte's inequality. Subsequently, a series of results are given[10-14].

The following theorem is obtained by Young-Ho Kim and Byung-Il Kim[8].

Theorem 1.2 Let $p > 1$, $q > 1$ be constants. Let $a(s) : N_m \rightarrow R$, $b(t) : N_n \rightarrow R$, and $a(0) = b(0) = 0$.

Then

$$\sum_{s=1}^m \sum_{t=1}^n \frac{|a(s)||b(t)|}{qs \frac{(p-1)(p+q)}{pq} + pt \frac{(q-1)(p+q)}{pq}} \leq M_2(p, q, m, n) \left\{ \sum_{s=1}^m (m-s+1) |\nabla a(s)|^p \right\}^{\frac{1}{p}} \left\{ \sum_{t=1}^n (n-t+1) |\nabla b(t)|^q \right\}^{\frac{1}{q}} \quad (1.3)$$

for $m, n \in N$, where $M_2(p, q, m, n) = \frac{1}{p+q} m^{(p-1)/p} n^{(q-1)/q}$, for $m, n \in N$.

The purpose of this paper is to build some new inequalities with some sequences involving inequalities (1.2) and (1.3). The integral analogues of the main results are also given.

2 Main results

Theorem 2.1 Let $n \in N$, $n \geq 2$, $p_i > 1$, ($i = 1, 2, \dots, n$), $\alpha = \sum_{i=1}^n \frac{1}{p_i}$ and $\beta_i = \prod_{j=1, j \neq i}^n p_j$, ($i = 1, 2, \dots, n$). Let $a_i(s_i) : N_{m_i} \rightarrow R$ and $a_1(0) = a_2(0) = \dots = a_n(0) = 0$. Then

$$\sum_{s_1=1}^{m_1} \dots \sum_{s_n=1}^{m_n} \frac{\prod_{i=1}^n |a_i(s_i)|}{\sum_{i=1}^n \beta_i s_i^{(p_i-1)\alpha}} \leq M(p_1, \dots, p_n, m_1, \dots, m_n) \prod_{i=1}^n \left\{ \sum_{s_i=1}^{m_i} (m_i - s_i + 1) |\nabla a_i(s_i)|^{p_i} \right\}^{\frac{1}{p_i}} \quad (2.1)$$

for $m_1, m_2, \dots, m_n \in N$, where $M(p_1, \dots, p_n, m_1, \dots, m_n) = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n m_i^{\frac{p_i-1}{p_i}}$, for $m_1, m_2, \dots, m_n \in N$.

Proof The idea of proof of Theorem 2.1 comes from Theorem 2.1 in Young-Ho Kim and Byung-Il Kim[8]. From the hypotheses of Theorem 2.1, it is easy to observe that the following identities hold

$$a_i(s_i) = \sum_{\tau_i=1}^{s_i} \nabla a_i(\tau_i), \quad i = 1, 2, \dots, n \quad (2.2)$$

for $s_i \in N_{m_i}$, $i = 1, 2, \dots, n$. From (2.2) and using Hölder's inequality with indices p_i , $p_i/(p_i - 1)$, we have

$$|a_i(s_i)| \leq s_i^{\frac{p_i-1}{p_i}} \left\{ \sum_{\tau_i=1}^{s_i} |\nabla a_i(\tau_i)|^{p_i} \right\}^{\frac{1}{p_i}}, \quad i = 1, 2, \dots, n \quad (2.3)$$

for $s_i \in N_{m_i}$, $i = 1, 2, \dots, n$. Using the inequality of means[9]

$$\left(\prod_{i=1}^n x_i^{\omega_i} \right)^{\frac{1}{\Omega_n}} \leq \left(\frac{1}{\Omega_n} \sum_{i=1}^n \omega_i x_i^r \right)^{\frac{1}{r}} \quad (2.4)$$

for $r > 0$, $\omega_i > 0$, $\sum_{i=1}^n \omega_i = \Omega_n$. Let $x_i = s_i^{p_i-1}$, $\omega_i = \frac{1}{p_i}$, $i = 1, 2, \dots, n$. and $r = \sum_{i=1}^n \omega_i$, from (2.3), one obtains

$$\begin{aligned} \prod_{i=1}^n |a_i(s_i)| &\leq \prod_{i=1}^n s_i^{\frac{p_i-1}{p_i}} \left\{ \sum_{\tau_i=1}^{s_i} |\nabla a_i(\tau_i)|^{p_i} \right\}^{\frac{1}{p_i}} \\ &\leq \frac{1}{\alpha} \left\{ \sum_{i=1}^n \frac{s_i^{(p_i-1)\alpha}}{p_i} \right\} \prod_{i=1}^n \left\{ \sum_{\tau_i=1}^{s_i} |\nabla a_i(\tau_i)|^{p_i} \right\}^{\frac{1}{p_i}} \\ &= \frac{1}{\sum_{i=1}^n \beta_i} \left\{ \sum_{i=1}^n \alpha_i s_i^{(p_i-1)\alpha} \right\} \prod_{i=1}^n \left\{ \sum_{\tau_i=1}^{s_i} |\nabla a_i(\tau_i)|^{p_i} \right\}^{\frac{1}{p_i}} \end{aligned} \quad (2.5)$$

for $s_i \in N_{m_i}$, $i = 1, 2, \dots, n$. We observe that

$$\frac{\prod_{i=1}^n |a_i(s_i)|}{\sum_{i=1}^n \alpha_i s_i^{(p_i-1)\alpha}} \leq \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left\{ \sum_{\tau_i=1}^{s_i} |\nabla a_i(\tau_i)|^{p_i} \right\}^{\frac{1}{p_i}} \quad (2.6)$$

for $s_i \in N_{m_i}$, $i = 1, 2, \dots, n$. Taking the sum on both sides of (2.6) first over s_i ($i = 1, 2, \dots, n$) from 1 to m_i and then using Hölder's inequality and interchanging the order of summation, we observe that

$$\begin{aligned}
& \sum_{s_1=1}^{m_1} \cdots \sum_{s_n=1}^{m_n} \frac{\prod_{i=1}^n |a_i(s_i)|}{\sum_{i=1}^n \alpha_i s_i^{(p_i-1)\alpha}} \\
& \leq \sum_{s_1=1}^{m_1} \cdots \sum_{s_n=1}^{m_n} \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left\{ \sum_{\tau_i=1}^{s_i} |\nabla a_i(\tau_i)|^{p_i} \right\}^{\frac{1}{p_i}} \\
& = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left(\sum_{s_i=1}^{m_i} \left\{ \sum_{\tau_i=1}^{s_i} |\nabla a_i(\tau_i)|^{p_i} \right\}^{\frac{1}{p_i}} \right) \\
& \leq \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n m_i^{\frac{p_i-1}{p_i}} \prod_{i=1}^n \left\{ \sum_{s_i=1}^{m_i} \sum_{\tau_i=1}^{s_i} |\nabla a_i(\tau_i)|^{p_i} \right\}^{\frac{1}{p_i}} \\
& = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n m_i^{\frac{p_i-1}{p_i}} \prod_{i=1}^n \left\{ \sum_{s_i=1}^{m_i} (m_i - s_i + 1) |\nabla a_i(s_i)|^{p_i} \right\}^{\frac{1}{p_i}}.
\end{aligned}$$

This completes the proof of Theorem 2.1.

Remark 1 In Theorem 2.1, $n = 2$, our result is Theorem 1.2. In Theorem 2.1, $n = 2$ and $\alpha = 1$, our result is Theorem 1.1.

In the following theorems we establish the two independent variable versions of the inequalities involving some sequences.

Theorem 2.2 Let $n \in N$, $n \geq 2$, $p_i > 1$, ($i = 1, 2, \dots, n$), $\alpha = \sum_{i=1}^n \frac{1}{p_i}$ and $\beta_i = \prod_{j=1, j \neq i}^n p_j$, ($i = 1, 2, \dots, n$). Let $a_i(s_i, t_i) : N_{m_i} \times N_{n_i} \rightarrow R$ and $a_1(0, t) = a_2(0, t) = \cdots = a_n(0, t) = a_1(s, 0) = a_2(s, 0) = \cdots = a_n(s, 0) = 0$. Then

$$\begin{aligned}
& \sum_{s_1=1}^{m_1} \sum_{t_1=1}^{n_1} \cdots \sum_{s_n=1}^{m_n} \sum_{t_n=1}^{n_n} \frac{\prod_{i=1}^n |a_i(s_i, t_i)|}{\sum_{i=1}^n \beta_i (s_i t_i)^{(p_i-1)\alpha}} \leq L(p_1, \dots, p_n, m_1, \dots, m_n, n_1, \dots, n_n) \\
& \quad \times \prod_{i=1}^n \left\{ \sum_{s_i=1}^{m_i} \sum_{t_i=1}^{n_i} (m_i - s_i + 1)(n_i - t_i + 1) |\nabla_2 \nabla_1 a_i(s_i, t_i)|^{p_i} \right\}^{\frac{1}{p_i}} \quad (2.7)
\end{aligned}$$

for $m_1, m_2, \dots, m_n, n_1, \dots, n_n \in N$, where $L(p_1, \dots, p_n, m_1, \dots, m_n, n_1, \dots, n_n) = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n (m_i n_i)^{\frac{p_i-1}{p_i}}$,

for $m_1, m_2, \dots, m_n, n_1, \dots, n_n \in N$.

Proof From the hypotheses of Theorem 2.2, it is easy to observe that the following identities hold

$$a_i(s_i, t_i) = \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} \nabla_2 \nabla_1 a_i(\tau_i, \sigma_i), \quad i = 1, 2, \dots, n \quad (2.8)$$

for $s_i \in N_{m_i}, t_i \in N_{n_i}$, $i = 1, 2, \dots, n$. From (2.8) and using Hölder's inequality with indices $p_i, p_i/(p_i - 1)$, we have

$$|a_i(s_i, t_i)| \leq (s_i t_i)^{\frac{p_i-1}{p_i}} \left\{ \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} |\nabla_2 \nabla_1 a_i(\tau_i, \sigma_i)|^{p_i} \right\}^{\frac{1}{p_i}}, \quad i = 1, 2, \dots, n \quad (2.9)$$

for $s_i \in N_{m_i}, t_i \in N_{n_i}$, $i = 1, 2, \dots, n$. Let $x_i = (s_i t_i)^{p_i-1}$, $\omega_i = \frac{1}{p_i}$, $i = 1, 2, \dots, n$. and $r = \sum_{i=1}^n \omega_i$, from (2.4)

and (2.9), one obtains

$$\begin{aligned}
\prod_{i=1}^n |a_i(s_i, t_i)| &\leq \prod_{i=1}^n (s_i t_i)^{\frac{p_i-1}{p_i}} \left\{ \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} |\nabla_2 \nabla_1 a_i(\tau_i, \sigma_i)|^{p_i} \right\}^{\frac{1}{p_i}} \\
&\leq \frac{1}{\alpha} \left\{ \sum_{i=1}^n \frac{(s_i t_i)^{(p_i-1)\alpha}}{p_i} \right\} \prod_{i=1}^n \left\{ \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} |\nabla_2 \nabla_1 a_i(\tau_i, \sigma_i)|^{p_i} \right\}^{\frac{1}{p_i}} \\
&= \frac{1}{\sum_{i=1}^n \beta_i} \left\{ \sum_{i=1}^n \alpha_i (s_i t_i)^{(p_i-1)\alpha} \right\} \prod_{i=1}^n \left\{ \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} |\nabla_2 \nabla_1 a_i(\tau_i, \sigma_i)|^{p_i} \right\}^{\frac{1}{p_i}} \quad (2.10)
\end{aligned}$$

for $s_i \in N_{m_i}, t_i \in N_{n_i}, i = 1, 2, \dots, n$. We observe that

$$\frac{\prod_{i=1}^n |a_i(s_i, t_i)|}{\sum_{i=1}^n \alpha_i (s_i t_i)^{(p_i-1)\alpha}} \leq \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left\{ \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} |\nabla_2 \nabla_1 a_i(\tau_i, \sigma_i)|^{p_i} \right\}^{\frac{1}{p_i}} \quad (2.11)$$

for $s_i \in N_{m_i}, t_i \in N_{n_i}, i = 1, 2, \dots, n$. Taking the sum on both sides of (2.11) first over s_i, t_i ($i = 1, 2, \dots, n$) from 1 to m_i and then using Hölder's inequality and interchanging the order of summation, we observe that

$$\begin{aligned}
&\sum_{s_1=1}^{m_1} \sum_{t_1=1}^{n_1} \cdots \sum_{s_n=1}^{m_n} \sum_{t_n=1}^{n_n} \frac{\prod_{i=1}^n |a_i(s_i, t_i)|}{\sum_{i=1}^n \beta_i (s_i t_i)^{(p_i-1)\alpha}} \\
&\leq \sum_{s_1=1}^{m_1} \sum_{t_1=1}^{n_1} \cdots \sum_{s_n=1}^{m_n} \sum_{t_n=1}^{n_n} \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left\{ \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} |\nabla_2 \nabla_1 a_i(\tau_i, \sigma_i)|^{p_i} \right\}^{\frac{1}{p_i}} \\
&= \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left(\sum_{s_i=1}^{m_i} \sum_{t_i=1}^{n_i} \left\{ \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} |\nabla_2 \nabla_1 a_i(\tau_i, \sigma_i)|^{p_i} \right\}^{\frac{1}{p_i}} \right) \\
&\leq \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n (m_i n_i)^{\frac{p_i-1}{p_i}} \prod_{i=1}^n \left\{ \sum_{s_i=1}^{m_i} \sum_{t_i=1}^{n_i} \sum_{\tau_i=1}^{s_i} \sum_{\sigma_i=1}^{t_i} |\nabla_2 \nabla_1 a_i(\tau_i, \sigma_i)|^{p_i} \right\}^{\frac{1}{p_i}} \\
&= \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n (m_i n_i)^{\frac{p_i-1}{p_i}} \prod_{i=1}^n \left\{ \sum_{s_i=1}^{m_i} \sum_{t_i=1}^{n_i} (m_i - s_i + 1)(n_i - t_i + 1) |\nabla_2 \nabla_1 a_i(s_i, t_i)|^{p_i} \right\}^{\frac{1}{p_i}}.
\end{aligned}$$

This completes the proof of Theorem 2.2.

Remark 2 By applying the inequality (2.4) on the right-hand sides of result inequalities in Theorem 2.1 and Theorem 2.2, we get the following inequalities

$$\sum_{s_1=1}^{m_1} \cdots \sum_{s_n=1}^{m_n} \frac{\prod_{i=1}^n |a_i(s_i)|}{\sum_{i=1}^n \beta_i s_i^{(p_i-1)\alpha}} \leq \frac{M(p_1, \dots, p_n, m_1, \dots, m_n)}{\alpha} \sum_{i=1}^n \frac{1}{p_i} \left\{ \sum_{s_i=1}^{m_i} (m_i - s_i + 1) |\nabla a_i(s_i)|^{p_i} \right\}^\alpha \quad (2.12)$$

for $m_1, m_2, \dots, m_n \in N$, where $M(p_1, \dots, p_n, m_1, \dots, m_n) = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n m_i^{\frac{p_i-1}{p_i}}$, for $m_1, m_2, \dots, m_n \in N$.

And

$$\begin{aligned}
&\sum_{s_1=1}^{m_1} \sum_{t_1=1}^{n_1} \cdots \sum_{s_n=1}^{m_n} \sum_{t_n=1}^{n_n} \frac{\prod_{i=1}^n |a_i(s_i, t_i)|}{\sum_{i=1}^n \beta_i (s_i t_i)^{(p_i-1)\alpha}} \leq \frac{L(p_1, \dots, p_n, m_1, \dots, m_n, n_1, \dots, n_n)}{\alpha} \\
&\quad \times \sum_{i=1}^n \frac{1}{p_i} \left\{ \sum_{s_i=1}^{m_i} \sum_{t_i=1}^{n_i} (m_i - s_i + 1)(n_i - t_i + 1) |\nabla_2 \nabla_1 a_i(s_i, t_i)|^{p_i} \right\}^\alpha \quad (2.13)
\end{aligned}$$

for $m_1, m_2, \dots, m_n, n_1, \dots, n_n \in N$, where $L(p_1, \dots, p_n, m_1, \dots, m_n, n_1, \dots, n_n) = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n (m_i n_i)^{\frac{p_i-1}{p_i}}$, for $m_1, m_2, \dots, m_n, n_1, \dots, n_n \in N$.

3 Integral analogues

Now we give integral analogues of our results as follows.

Theorem 3.1 Let $n \in \mathbb{N}$, $n \geq 2$, $p_i > 1$, ($i = 1, 2, \dots, n$), $\alpha = \sum_{i=1}^n \frac{1}{p_i}$ and $\beta_i = \prod_{j=1, j \neq i}^n p_j$, ($i = 1, 2, \dots, n$). Let $f_i(x)$, ($i = 1, 2, \dots, n$), be real-valued continuous functions defined on I_{x_i} and $f_1(0) = f_2(0) = \dots = f_n(0) = 0$. Then

$$\int_0^{x_1} \dots \int_0^{x_n} \frac{\prod_{i=1}^n |f_i(s_i)|}{\sum_{i=1}^n \beta_i s_i^{(p_i-1)\alpha}} ds_1 \dots ds_n \leq K(p_1, \dots, p_n, x_1, \dots, x_n) \prod_{i=1}^n \left\{ \int_0^{x_i} (x_i - s_i) |f'_i(s_i)|^{p_i} ds_i \right\}^{\frac{1}{p_i}} \quad (3.1)$$

for $x_1, x_2, \dots, x_n \in I_0$, where $K(p_1, \dots, p_n, x_1, \dots, x_n) = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n x_i^{\frac{p_i-1}{p_i}}$, for $x_1, x_2, \dots, x_n \in I_0$.

Proof Along the lines of proof of the Theorem 2.1, from the hypotheses of Theorem 3.1, it is easy to observe that the following identities hold

$$f_i(s_i) = \int_0^{s_i} f'_i(\tau_i) d\tau_i, \quad i = 1, 2, \dots, n \quad (3.2)$$

for $s_i \in I_{x_i}$, $i = 1, 2, \dots, n$. From (2.2) and using Hölder's inequality with indices p_i , $p_i/(p_i - 1)$, we have

$$|f_i(s_i)| \leq s_i^{\frac{p_i-1}{p_i}} \left\{ \int_0^{s_i} |f'_i(\tau_i)|^{p_i} d\tau_i \right\}^{\frac{1}{p_i}}, \quad i = 1, 2, \dots, n \quad (3.3)$$

for $s_i \in I_{x_i}$, $i = 1, 2, \dots, n$. Let $x_i = s_i^{p_i-1}$, $\omega_i = \frac{1}{p_i}$, $i = 1, 2, \dots, n$. and $r = \sum_{i=1}^n \omega_i$, from (2.4) and (3.3), one obtains

$$\begin{aligned} \prod_{i=1}^n |f_i(s_i)| &\leq \prod_{i=1}^n s_i^{\frac{p_i-1}{p_i}} \left\{ \int_{\tau_i=1}^{s_i} |f'_i(\tau_i)|^{p_i} d\tau_i \right\}^{\frac{1}{p_i}} \\ &\leq \frac{1}{\alpha} \left\{ \sum_{i=1}^n \frac{s_i^{(p_i-1)\alpha}}{p_i} \right\} \prod_{i=1}^n \left\{ \int_0^{s_i} |f'_i(\tau_i)|^{p_i} d\tau_i \right\}^{\frac{1}{p_i}} \\ &= \frac{1}{\sum_{i=1}^n \beta_i} \left\{ \sum_{i=1}^n \alpha_i s_i^{(p_i-1)\alpha} \right\} \prod_{i=1}^n \left\{ \int_0^{s_i} |f'_i(\tau_i)|^{p_i} d\tau_i \right\}^{\frac{1}{p_i}} \end{aligned} \quad (3.4)$$

for $s_i \in I_{x_i}$, $i = 1, 2, \dots, n$. We observe that

$$\frac{\prod_{i=1}^n |f_i(s_i)|}{\sum_{i=1}^n \alpha_i s_i^{(p_i-1)\alpha}} \leq \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left\{ \int_0^{s_i} |f'_i(\tau_i)|^{p_i} d\tau_i \right\}^{\frac{1}{p_i}} \quad (3.5)$$

for $s_i \in I_{x_i}$, $i = 1, 2, \dots, n$. Taking the integral on both sides of (3.5) first over s_i ($i = 1, 2, \dots, n$) from 0 to x_i and then using Hölder's inequality and interchanging the order of integrals, we observe that

$$\begin{aligned}
& \int_0^{x_1} \cdots \int_0^{x_n} \frac{\prod_{i=1}^n |a_i(s_i)|}{\sum_{i=1}^n \alpha_i s_i^{(p_i-1)\alpha}} ds_1 \cdots ds_n \\
& \leq \int_0^{x_1} \cdots \int_0^{x_n} \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left\{ \int_0^{s_i} |f'_i(\tau_i)|^{p_i} d\tau_i \right\}^{\frac{1}{p_i}} ds_1 \cdots ds_n \\
& = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left(\int_0^{x_i} \left\{ \int_0^{s_i} |f'_i(\tau_i)|^{p_i} d\tau_i \right\}^{\frac{1}{p_i}} ds_i \right) \\
& \leq \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n x_i^{\frac{p_i-1}{p_i}} \prod_{i=1}^n \left\{ \int_0^{x_i} \int_0^{s_i} |f'_i(\tau_i)|^{p_i} d\tau_i ds_i \right\}^{\frac{1}{p_i}} \\
& = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n x_i^{\frac{p_i-1}{p_i}} \prod_{i=1}^n \left\{ \int_0^{x_i} (x_i - s_i) |f'_i(s_i)|^{p_i} ds_i \right\}^{\frac{1}{p_i}}.
\end{aligned}$$

This completes the proof of Theorem 3.1.

In the following theorems we establish integral analogue of Theorem 2.2.

Theorem 3.2 Let $n \in \mathbb{N}$, $n \geq 2$, $p_i > 1$, ($i = 1, 2, \dots, n$), $\alpha = \sum_{i=1}^n \frac{1}{p_i}$ and $\beta_i = \prod_{j=1, j \neq i}^n p_j$, ($i = 1, 2, \dots, n$). Let $f_i(s_i, t_i) : I_{x_i} \times I_{y_i} \rightarrow \mathbb{R}$ and $f_1(0, t) = f_2(0, t) = \cdots = f_n(0, t) = f_1(s, 0) = f_2(s, 0) = \cdots = f_n(s, 0) = 0$. Then

$$\begin{aligned}
& \int_0^{x_1} \int_0^{y_1} \cdots \int_0^{x_n} \int_0^{y_n} \frac{\prod_{i=1}^n |f_i(s_i, t_i)|}{\sum_{i=1}^n \beta_i (s_i t_i)^{(p_i-1)\alpha}} ds_1 dt_1 \cdots ds_n dt_n \leq C(p_1, \dots, p_n, x_1, \dots, x_n, y_1, \dots, y_n) \\
& \quad \times \prod_{i=1}^n \left\{ \int_0^{x_i} \int_0^{y_i} (x_i - s_i)(y_i - t_i) |D_2 D_1 f_i(s_i, t_i)|^{p_i} ds_i dt_i \right\}^{\frac{1}{p_i}} \tag{3.6}
\end{aligned}$$

for $x_1, \dots, x_n, y_1, \dots, y_n \in I_0$, where $C(p_1, \dots, p_n, x_1, \dots, x_n, y_1, \dots, y_n) = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n (x_i y_i)^{\frac{p_i-1}{p_i}}$, for $x_1, \dots, x_n, y_1, \dots, y_n \in I_0$.

Proof Along the lines of proof of the Theorem 2.2, from the hypotheses of Theorem 3.2, it is easy to observe that the following identities hold

$$f_i(s_i, t_i) = \int_0^{s_i} \int_0^{t_i} D_2 D_1 f_i(\tau_i, \sigma_i) d\tau_i d\sigma_i, \quad i = 1, 2, \dots, n \tag{3.7}$$

for $s_i \in I_{x_i}, t_i \in I_{y_i}$, $i = 1, 2, \dots, n$. From (3.7) and using Hölder's inequality with indices $p_i, p_i/(p_i - 1)$, we have

$$|f_i(s_i, t_i)| \leq (s_i t_i)^{\frac{p_i-1}{p_i}} \left\{ \int_0^{s_i} \int_0^{t_i} |D_2 D_1 f_i(\tau_i, \sigma_i)|^{p_i} d\tau_i d\sigma_i \right\}^{\frac{1}{p_i}}, \quad i = 1, 2, \dots, n \tag{3.8}$$

for $s_i \in I_{x_i}, t_i \in I_{y_i}$, $i = 1, 2, \dots, n$. Let $x_i = (s_i t_i)^{p_i-1}$, $\omega_i = \frac{1}{p_i}$, $i = 1, 2, \dots, n$. and $r = \sum_{i=1}^n \omega_i$, from (2.4)

and (3.8), one obtains

$$\begin{aligned}
\prod_{i=1}^n |f_i(s_i, t_i)| &\leq \prod_{i=1}^n (s_i t_i)^{\frac{p_i-1}{p_i}} \left\{ \int_0^{s_i} \int_0^{t_i} |D_2 D_1 f_i(\tau_i, \sigma_i)|^{p_i} d\tau_i d\sigma_i \right\}^{\frac{1}{p_i}} \\
&\leq \frac{1}{\alpha} \left\{ \sum_{i=1}^n \frac{(s_i t_i)^{(p_i-1)\alpha}}{p_i} \right\} \prod_{i=1}^n \left\{ \int_0^{s_i} \int_0^{t_i} |D_2 D_1 f_i(\tau_i, \sigma_i)|^{p_i} d\tau_i d\sigma_i \right\}^{\frac{1}{p_i}} \\
&= \frac{1}{\sum_{i=1}^n \beta_i} \left\{ \sum_{i=1}^n \alpha_i (s_i t_i)^{(p_i-1)\alpha} \right\} \prod_{i=1}^n \left\{ \int_0^{s_i} \int_0^{t_i} |D_2 D_1 f_i(\tau_i, \sigma_i)|^{p_i} d\tau_i d\sigma_i \right\}^{\frac{1}{p_i}} \quad (3.9)
\end{aligned}$$

for $s_i \in I_{x_i}, t_i \in I_{y_i}, i = 1, 2, \dots, n$. We observe that

$$\frac{\prod_{i=1}^n |f_i(s_i, t_i)|}{\sum_{i=1}^n \alpha_i (s_i t_i)^{(p_i-1)\alpha}} \leq \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left\{ \int_0^{s_i} \int_0^{t_i} |D_2 D_1 f_i(\tau_i, \sigma_i)|^{p_i} d\tau_i d\sigma_i \right\}^{\frac{1}{p_i}} \quad (3.10)$$

for $s_i \in I_{x_i}, t_i \in I_{y_i}, i = 1, 2, \dots, n$. Taking the integral on both sides of (2.11) first over s_i, t_i ($i = 1, 2, \dots, n$) from 0 to x_i and from 0 to y_i , respectively, and then using Hölder's inequality and interchanging the order of integrals, we observe that

$$\begin{aligned}
&\int_0^{x_1} \int_0^{y_1} \cdots \int_0^{x_n} \int_0^{y_n} \frac{\prod_{i=1}^n |a_i(s_i, t_i)|}{\sum_{i=1}^n \beta_i (s_i t_i)^{(p_i-1)\alpha}} ds_1 dt_1 \cdots ds_n dt_n \\
&\leq \int_0^{x_1} \int_0^{y_1} \cdots \int_0^{x_n} \int_0^{y_n} \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left\{ \int_0^{s_i} \int_0^{t_i} |D_2 D_1 f_i(\tau_i, \sigma_i)|^{p_i} d\tau_i d\sigma_i \right\}^{\frac{1}{p_i}} ds_1 dt_1 \cdots ds_n dt_n \\
&= \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n \left(\int_0^{x_i} \int_0^{y_i} \left\{ \int_0^{s_i} \int_0^{t_i} |D_2 D_1 f_i(\tau_i, \sigma_i)|^{p_i} d\tau_i d\sigma_i \right\}^{\frac{1}{p_i}} ds_i dt_i \right) \\
&\leq \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n (x_i y_i)^{\frac{p_i-1}{p_i}} \prod_{i=1}^n \left\{ \int_0^{x_i} \int_0^{y_i} \int_0^{s_i} \int_0^{t_i} |D_2 D_1 f_i(\tau_i, \sigma_i)|^{p_i} d\tau_i d\sigma_i ds_i dt_i \right\}^{\frac{1}{p_i}} \\
&= \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n (x_i y_i)^{\frac{p_i-1}{p_i}} \prod_{i=1}^n \left\{ \int_0^{x_i} \int_0^{y_i} (x_i - s_i)(y_i - t_i) |D_2 D_1 f_i(s_i, t_i)|^{p_i} ds_i dt_i \right\}^{\frac{1}{p_i}}.
\end{aligned}$$

This completes the proof of Theorem 3.2.

Remark 3 By applying the inequality (2.4) on the right-hand sides of result inequalities in Theorem 2.1 and Theorem 2.2, we get the following inequalities

$$\int_0^{x_1} \cdots \int_0^{x_n} \frac{\prod_{i=1}^n |f_i(s_i)|}{\sum_{i=1}^n \beta_i s_i^{(p_i-1)\alpha}} ds_1 \cdots ds_n \leq \frac{K(p_1, \dots, p_n, x_1, \dots, x_n)}{\alpha} \sum_{i=1}^n \frac{1}{p_i} \left\{ \int_0^{x_i} (x_i - s_i) |f'_i(s_i)|^{p_i} ds_i \right\}^\alpha \quad (3.11)$$

for $x_1, x_2, \dots, x_n \in I_0$, where $K(p_1, \dots, p_n, x_1, \dots, x_n) = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n x_i^{\frac{p_i-1}{p_i}}$, for $x_1, x_2, \dots, x_n \in I_0$. And

$$\int_0^{x_1} \int_0^{y_1} \cdots \int_0^{x_n} \int_0^{y_n} \frac{\prod_{i=1}^n |f_i(s_i, t_i)|}{\sum_{i=1}^n \beta_i (s_i t_i)^{(p_i-1)\alpha}} ds_1 dt_1 \cdots ds_n dt_n \leq \frac{C(p_1, \dots, p_n, x_1, \dots, x_n, y_1, \dots, y_n)}{\alpha}$$

$$\times \sum_{i=1}^n \frac{1}{p_i} \left\{ \int_0^{x_i} \int_0^{y_i} (x_i - s_i)(y_i - t_i) |D_2 D_1 f_i(s_i, t_i)|^{p_i} ds_i dt_i \right\}^\alpha \quad (3.12)$$

for $x_1, x_2, \dots, x_n, y_1, \dots, y_n \in I_0$, where $C(p_1, \dots, p_n, x_1, \dots, x_n, y_1, \dots, y_n) = \frac{1}{\sum_{i=1}^n \beta_i} \prod_{i=1}^n (x_i y_i)^{\frac{p_i-1}{p_i}}$, for $x_1, x_2, \dots, x_n, y_1, \dots, y_n \in I_0$.

References

- [1] G. H. Hardy, J. E. Littlewood, G. Polya, *Inequalities*. London: Cambridge University Press, 1952.
- [2] J. C. Kuang, On new generalizations of Hilbert's inequality and their applications. *J. Math. Anal. & Appl.*, 245(1)(2000)248-265.
- [3] C. J. Zhao, L. Debnath, Some New Inverse Type Hilbert Integral Inequalities. *J. Math. Anal. & Appl.*, 262(1)(2001)411-418.
- [4] Mario Krnić, Josip Pečarić, Extension of Hilbert's inequality. *J. Math. Anal. & Appl.*, 272(1)(2002)187-199.
- [5] B. C. Yang, On the norm of a Hilbert's type linear operator and applications. *J. Math. Anal. & Appl.*, 325(1)(2007)529-541.
- [6] J. L. Jin, On Hilbert's type inequalities. *J. Math. Anal. & Appl.*, 340(2)(2008)932-942.
- [7] B. G. Pachpatte, Inequalities Similar to Certain Extensions of Hilbert's Inequality. *J. Math. Anal. & Appl.*, 243(2000)217-227.
- [8] Young-Ho Kim, Byung-Il Kim, AN ANALOGUE OF HILBERT'S INEQUALITY AND ITS EXTENSIONS. *Bull. Korean Math. Soc.*, 39(3) (2002)377C388.
- [9] D. S. Mitrinović, J. E. Pečarić, A. M. Fink, *Classical and New Inequalities in Analysis*, Kluwer Academic, Dordrecht, 1993.
- [10] Josip Pečarić, Ivan Perić, and Predrag Vukvić, Hilbert-Pachpatte type inequalities from Bonsall's form of Hilbert's inequality. *J. Ineq. Pure and Appl. Math.*, 9(1)(2008): Article 9.
- [11] C. J. Zhao, W. S. Cheung, Inverses of new Hilbert-Pachpatte type inequalities. *J. Ineq. & Appl.*, (2006)1-11.
- [12] Young-Ho Kim, An improvement of some inequalities similar to Hilbert's inequality. *Int. J. Math. & Math. Sci.*, 28(4)(2001) 211-221.
- [13] G. D. Handley, J. J. Koliha, J. Pečarić, Hilbert-pachpatte type multidimensional integral inequalities. *J. Ineq. Pure and Appl. Math.*, 5(2)(2004): Article 24.
- [14] G. D. Handley, J. J. Koliha, J. Pečarić, A Hilbert type inequality. *Tamkang J. Math.*, 31(2000)311-315.